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K Note 1o the

h  Thank you for your purchase! | hope you and your
tudents enjoy these task cards. Use these as a review
Hor students;learning or reinforcement center, or even as
- a pre or post test. -

This activity is fully aligned with 6nS.4

Print these cards and laminate them to use them over
and over.

Please Note: The purchase of this product entitles you
to use it in one classroom.

Graphics: JMllustrations

Visit my TPT or Blg



http://www.etsy.com/shop/JWIllustrations?ref=ks_wide
http://www.teacherspayteachers.com/Store/Felicia-Watkins
http://imustachetheteacher.blogspot.com/

Viridiana, a costume designer, has 3lp bat

buttons and 18 black cat buttons she must

use To create costumes. What is The largest

number of costumes she can make without
having any buttons left over?

A. GCF B. LCM



Landon has (O peppermints and 90 candy
corns. He wants to make packades of
these candies 1o bring to his school to pass
out To his classmates. What is The
maximum number of packades he can make
using dll items?

A. GCF B. LCM



Hot dogs come in packages of 1Z and hot
dog buns come in packages of 10. What is
the least number of packades of each that
Dominique can buy To be able To have a
weenie roast with no buns or hot dogs left
over?

A. GCF B. LCM



Mariana can make groups of 3, 4, or 9
pumpkins with none left over. What is
smallest number of pumpkins she must have
to make These groups?

A. GCF B. LCM



6CF

¢ Greatest Common factory

LGM

¢ Least Common Mulfipley

Virldland, 4 costume designer, has p bat
butrons dand 189 black cdt buTTons she must
U$e 7O Credite costumes. What 15 The largest
number of costumes the can make without

having any buttons left over?

Hot dogs come Tn packages of 12 and hot
dog buns come Tn packages of 10. What Tz
the least number of packages of each that
Dominique can buy To be dble to have a
weenie rodst with no buns or hot dogs left
overt

Landon el peppermints and 30 candy
corns. He wants to make packages of
Theze candies To bring To hiz school To pass
out 1o hig clasemares. What Iz The
T Tl number of packdages he can make
using all Tremsr

MarTdand can make groups of 3, 4, or 9
pumpkng wTth none left over. What T
smallest number of pumpking she must have
10 Tk These Sroupst




